10

BFIUITLR ARR(KE)
1R 2R 3R 4R

A—14I
FH #=
@)=y RETC)
THF1ELDA AM
wRE B’X
(KA-)
H-1—14%
Lt Fnsa
ILyya)
D-E—2{i1
%8 BE
(FHRAVVTTC)
c—14x
Fig ==
(ZFEM
D-E—1{&
® OEE
2-)

F—141
e Ih
Lyya)
H-1—2{1
h# Rt
(KA-)

G— 11
i &RE
(TVF=K—4R)
B—14I
& #—
(YR ZSAERT)

=H
6-0 (Ret)

FH
7-6 (7-1)

P T

H
1

LS
1-5

"
6-2

1
FH #8%F
&)~y RmTC)

R

T
7=



RFOVITILR AR (FE)
1R 2R

A—14I
6

TH #PF —
HUIIT— 6
C—11i N
M EEF ——— 1 T8 TP
7=v7=Y T —
A—2{1
EH FTH ——2 B

BILTC m BE
B—11i 4 7')-

7=




10

BFIUTIAR BRR(EKE)

A—14L

hEE ER
7')-

A~HD 24~ ZM
BA &4
7')-

C—141

FH IEXER
T =AU VATT
D—14I

IR 1ESR
7')-

E—14I
K Ba—
T =AU VATT
F—141

e+ B
YoT—
G—14I

Ml &
Hbeh
H—14L
BN &—
7')-
A~HD 2B DA A2
[RE B3R
T =AU VATT
B—14L

HFH L 187

7=

11

12

1R 2R 3R 4R 5R
0
6
___ 6
6
] 3
2
2
&%
3 it fz
KTF=RAhLyo
6 6 7 (7-5)
2
] B
HLE #%E
7')-
6
6 6
2
3
6
6

WO

WO

— 13

14

15

16

17

— 18

— 19

20

I—14L

fE K#H
NWAIPYF:-¥ic)
I~0M 2N AN
INE EE
7')-

K—14L

A B2
T =AW LATT
L—141

=F FH
FHEEMTC
M—1 4L
MR shE
F—LBN
N—14L

LA #7]
T =AU VATT
O—14i1
Ny =Fif
AT —
P—1{I
¥ FME
TEUT
I~0M 2N A2
B B—
7')-

J—14L

Nt #z

KTF=RAhLyo



BFIVTILA BRR(ERE)

A—11i
WA RZE
BEERE
26Z DA AM
E=]
butterfly effect
B—11i
gk ¥
7EUT
C—14i
XTI UF
7Y=

2L DAAM2
al 25
t7°VAY-TC
D—11i
Il EHIE
EBHRILD-YTC

1R 2R 3R
6
6
___ 6
1
1
___ 6
6
3
1
3

BE  x 2=
wmExhE

REE 1 mr
7Y



BFOUTLR ACFR)

A7°'0v)
1 #HE %
G-y EETC)
2 A 24
@9-)

3 WHAT 92t
(KR)-)

B7'AyY
4 IRE GE
(KRY=)
5 Jb# E—
(R 358 VERR)

6 7 FIR

(La.pis)

c7'ayy
7 FE £=
(S
8 HEO B
@Y-)

o e WE
W=V VATT)

D-E7°AvY

10 # %%
@9-)

1212 &
(Fbyya)

13 B8 BE
(FHEAVNTTC)

14 1A B’X
(KR)=)

15 B EN
(£ahR-Y)

F7'ov%
16 s I
(Fbyya)
17 g 2
I=D5#)

18 24 &
(KR)=)

HEIEE —
6 6

HEIEE —
S 6

HEIEE —
6 6

HOIEE —
6 6

L2

HEIEE —
6 6

mgr—ng | JREL

2-0 1

0-2 3

1-1 9
6/14=0.428
Hﬂsﬁi\x JIE L

1-1 9
11/18=0.611

2-0 1

0-2 3
Hﬂsﬁi\x JIE L

2-0 1

0-2 3

1-1 9
7/16=0.437
Hﬂsﬁi\x JIE L

2-0 1
12/15=08

0-2 4
4/16=0.25

2-0 9
12/19=0.631

1-1 3
11/18=0.611

0-2 5
2/14=0.14
Hﬂsgi\x JIE L

2-0 1

1-1 9
8/17=047

0-2 3

G7°'Bv)
19 i HRE
@M=k =42
20 #0 H%
@9-)

21 &%
GLyva)

22 K& =
(F-LIEIKAK)

23 H W
(T'7NT FYY2)

24 it $th
(KR)=)

25 UK 52
(KR)=)

26 it FHA
@Lyva)

L2

HEIEE —
6 4
6

2
2 6
HEIEE —
4 1
6
6
1
5
6 6

mgyr—sz | JREL
1-1 1
10/18=0.555
1-1
2
8/16=0.5
1-1
3
8/18=0.444
23208 -
mgr—nm | JREL
0-2 5
5/17=0.294
1-1
3
9/19=0474
2-0
2
12/20=0.6
0-2 4
6/18=0.333
2-0 ’
12/14=0.857




TFVTILRA(FE)

A7°0vY
1 ¢85 KT
491-)
2 5W XE
(SA)

3ZEMR FIH
(®WTC)

4 AR #BF

T V=AW LATT)

5 B H#IE
(N7 YyHT=RETE)

B7OwY
6 IES L\DOH
491-)
1% B&F
79-)

8 A fm¥

(T V=AU LATT)

cavy
9 ALl RF
I=D>)
10 R HiEF

(T-v7-Y)

" E®, AF¥
Y-

HEIEE —
6 6

0

HEIEE —
3 O(Ret)

4 6

HEIEE —

H)I?%Ei%ikﬁ g5z
2—0 :
12/17=0.705
0—2 4
10/22=0.455
2—0 9
12/19=0.631
0—2 5
6/18=0.333
=1,
H)I?%Ei%ikﬁ g5z
0-2 3
2-0 :
1-1 9
H)I?%Ei%ikﬁ g5z
1-1 9
2-0 :
0-2 3




BFUUNRB(FR)

A7°ayh
1 EH RE
79
3 hFE ESR
79

4 A FiE
@9-)

B7'Av)
2 kB AT
LUk
6 BMF =
(€722 V)

7 3L 5
9-)

c7°ny)
8 Fi EAER
V=AU WATT)

9 &N WA
(INTW9HT=AE i)

10 t@ B
7EY7)

D7°0yY

IR ESR
(7Y-)

12 @ &5
(NTYhTZRBEE)

13 Il %
FLyva)

E7'0yY
14 KK B
(REEEAS)
15 B &4
(7-)

16 /KTt BA—
(T N=AUNVATT)

F7°'0vy

17 £ &4k
(KF=RAbyY)

18 db4T Bk
)

19 A #—
(491-)

G7'ayy
20 F1E &
(€722 V)

21 MK BEE
79

22 [FH BHE
(V=AU WATT)

H7'0y9

23 [RE Kt
(/O EA-YTC)

24 BN BR—
Y-

25 7 AR
(REBR)

2D T V=) $BAR7—3 JRH

HEIEE —

BB

2 6

6
6

0 2
REIEE —
4 1

3
6

6 6
REIEE —
6 6

6
3

2 1
REIEE —
6 6

5
0

6 5
REIEE —
0 0

5
6

6 6
REIEE —
3 3

6
6

0 6
REIEE —
6 6

0
3

6 5
REIEE —
0] 6

6
6

1 3

mire s | I
1-1 9
8/16=0.5
2-0 1
0-2 3
Hﬂ%ﬁ&@ Bz
0-2 3
1-1 9
9/19=0.474
2-0 1
Hﬂ%ﬁ&@ Bz
2-0 1
1-1 9
9/17=0.529
0-2 3
Hﬂ%ﬁ&@ Bz
2-0 1
0-5 3
1-1 9
11/22=0.5
Hﬂ%ﬁ&@ Bz
0-2 3
1-1 9
11/17=0.647
2-0 1
Hﬂ%ﬁ&@ Bz
0-2 3
2-0 1
1-1 9
6/15=0.4
Hﬂ%ﬁ&@ Bz
2-0 1
0-2 3
1-1 9
11/17=0.647
Hﬂ%ﬁ&@ Bz
1-1 9
11/20=0.55
2-0 1
0-2 3

2B DA AM

2RI DA AM2

17°09%
27 7R 195
Y-
28 A 14T
(491-)

29 /£ K
T YR T

J7°'0vYy

31 ’RA
7))

32 FH B—
(7Y-)

33 Il Fz
(KF=2ALyY)

B D

==/HA

K7 Ay)
34 RIE IEBA
(SAT=A#-9L)

35 Brh R
V=AU WATT)

36 NHk BT
(2U-)

L7°'avYy

37 ol FE
(Fby¥a)

38 /INR EF
937

39 EF FHi
(FTEBETC)

M7 By
40 B 2
9-)

41 EfF Ktk
(€722 V)

42 R BhE
G-LEID

N7'0y4
43 iR
(79-)

44 LK B
(T h—~AUNVATT)

45 K% —17
(FRERILYHTC)

5

0o,P7°my4

46 £H H
=)

47 BER B
FEY7)

48 AR
7))

50 Jilth =
(491-)

51 H%F ME
FEI7)

BB

REIEE —
3 1
0
6
6 6
REIEE —
0 0
1
6
6 6
REIEE —
0 1
6
6
3 6
REIEE —
) 3
5
6
6 6
REIEE —
3 1
0
6
6 6
2 6
6
6
0 1
REIEE —
6 1
6
1
1
3
6
6

Hﬂ%*r"—l@ Bz
0-2 3
112

6/15=0.4
2-0 1

Hﬂ%ﬁ&@ Bz
0-2 3
1-1 9

7/13=0.538
2-0 1

Hﬂ%ﬁ&@ Bz
0-2 3
2-0 1
1-1 5

9/16=0.563

Hﬂ%ﬁ&@ Bz
0-2 3
1-1 9

11/22=0.5
2-0 1

Hﬂ%ﬁ&@ Bz
0-2 3
1-1 9

6/15=0.4
2-0 1

Hﬂ%ﬁ&@ Bz
1-1 9

8/15=0.533
2-0 1
0-2 3

Hﬂ%ﬁ&@ Bz

1=1],
7/17=0.412
1=1 [,
10/19=0.526
0—2 5
=1,
10/17=0.588
2—0 ]

2B DA AR2

2L DAAM



TFUJILAB(FRE)

A7°09)
2 RE AEF
79-)
3 WA XF
(EE )

18 AT
Y-

B7'Ay)
5H# L EBF
7-)

6 fNEk ¥
(FEY7)

1 EA ¥R

(butterfly effect)

c7'myy
8 KiL DIF

-
9\/N BS
(£7'VAY-TC)

10 Filh &F

(butterfly effect)

D7 AyY

1 AF T
-

12 @M FEF
(butterfly effect)

13 )il HiE
(#E&nln-yTC)

HEIEE —

28

HEIEE —
5 1

6 6

migy— sz | JBEL
0-2 3
2-0 :
1-1 9
6/16=0.375
H)I?%Ei%ikﬁ g5z
0-2 3
2-0 :
1-1 9
10/17=0.588
H)I?%Ei%ikﬁ g5z
2-0 i
1-1 9
9/17=0.529
0-2 3
H)I?%Ei%ikﬁ g5z
0-2 3
1-1 9
6/17=0.353
2-0 :

2L DA RN

2H(IDA A2



